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Capitale	
  umano	
  

•  capitale	
  umano	
  =	
  	
  

–  competenze	
  acquisite	
  a	
  scuola	
  

–  competenze	
  acquisite	
  sul	
  posto	
  di	
  lavoro	
  
(esperienza)	
  

–  competenza	
  acquisite	
  altrove	
  	
  

•  il	
  capitale	
  umano	
  è	
  un	
  capitale	
  (Becker,	
  anni	
  
‘60)	
  

–  si	
  accumula	
  (a@raverso	
  l’istruzione...)	
  

–  si	
  logora	
  (deprezzamento	
  per	
  obsolescenza	
  o	
  per	
  
memoria	
  imperfe@a)	
  

–  ha	
  un	
  rendimento	
  “annuale”	
  

–  accumularlo	
  costa	
  



Accumulare	
  capitale	
  umano	
  

•  il	
  meccanismo	
  principale	
  di	
  accumulazione	
  del	
  
capitale	
  umano	
  è	
  l’istruzione	
  

•  quanta	
  istruzione	
  è	
  oJmale	
  acquisire?	
  

–  si	
  acquisisce	
  istruzione	
  sino	
  al	
  punto	
  in	
  cui	
  i	
  
benefici	
  marginali	
  dell’istruzione	
  eguagliano	
  i	
  cosM	
  
marginali	
  dell’istruzione	
  



...	
  in	
  Italiano	
  ...	
  

•  l’istruzione	
  ha	
  un	
  costo:	
  

–  cosM	
  direJ	
  (tasse,	
  libri,	
  affi@o,	
  trasporM,	
  mensa...)	
  

–  cosM	
  opportunità:	
  andare	
  a	
  scuola	
  Mpicamente	
  
impedisce	
  di	
  lavorare	
  e	
  o@enere	
  uno	
  sMpendio	
  

–  cosM	
  “psichici”	
  dovuM	
  alla	
  faMca,	
  all’impegno...	
  	
  

•  più	
  anni	
  di	
  istruzione	
  si	
  acquisiscono	
  più	
  
aumentano	
  i	
  cosM	
  totali	
  dell’istruzione	
  

•  il	
  costo	
  di	
  un	
  ulteriore	
  anno	
  di	
  istruzione,	
  
quando	
  sono	
  già	
  staM	
  acquisiM	
  N	
  anni	
  di	
  
istruzione	
  si	
  chiama	
  costo	
  marginale	
  
dell’istruzione	
  (in	
  termini	
  matemaMci	
  è	
  la	
  
pendenza	
  della	
  funzione	
  di	
  costo	
  nel	
  punto	
  N)	
  



CosM	
  

anni	
  di	
  
istruzione	
  

€	
  

cosM	
  totali	
  
dell’istruzione	
  



...	
  in	
  Italiano	
  ...	
  

•  L’istruzione	
  comporta	
  benefici:	
  

–  maggiore	
  istruzione	
  implica	
  maggiore	
  capitale	
  
umano	
  e	
  quindi	
  maggiore	
  produJvità	
  del	
  lavoro	
  ◊	
  
salari	
  più	
  elevaM	
  per	
  tu@o	
  il	
  corso	
  della	
  vita	
  

–  (l’istruzione	
  accresce	
  anche	
  il	
  “valore”	
  
dell’esperienza	
  ◊	
  il	
  divario	
  tra	
  lavoratori	
  molM	
  
istruiM	
  e	
  poco	
  istruiM	
  tende	
  ad	
  aumentare	
  nel	
  
tempo)	
  

–  l’istruzione	
  potrebbe	
  essere	
  piacevole	
  per	
  sè	
  

•  I	
  benefici	
  totali	
  dell’istruzione	
  crescono	
  
all’aumentare	
  degli	
  anni	
  di	
  istruzione	
  

•  I	
  benefici	
  relaMvi	
  a	
  un	
  ulteriore	
  anno	
  di	
  
istruzione	
  quando	
  sono	
  già	
  staM	
  acquisiM	
  N	
  
anni	
  di	
  istruzione	
  si	
  chiamano	
  benefici	
  
marginali	
  



CosM	
  e	
  Benefici	
  

anni	
  di	
  
istruzione	
  

€	
  

cosM	
  totali	
  
dell’istruzione	
  

benefici	
  totali	
  
dell’istruzione	
  



CosM	
  e	
  Benefici	
  

anni	
  di	
  
istruzione	
  

€	
  

cosM	
  totali	
  
dell’istruzione	
  

benefici	
  totali	
  
dell’istruzione	
  

N N+1	
  

1	
   cosM	
  
marginali	
  

benefici	
  
marginali	
  



Scelta	
  “razionale”	
  

anni	
  di	
  
istruzione	
  

€	
  

cosM	
  totali	
  
dell’istruzione	
  

benefici	
  totali	
  
dell’istruzione	
  

massimo	
  
beneficio	
  ne@o	
  

Nel	
  punto	
  di	
  oJmo:	
  	
  
BENEFICI	
  MARGINALI	
  =	
  COSTI	
  MARGINALI	
  

N*	
  



Scelta	
  “razionale”	
  

anni	
  di	
  
istruzione	
  

€

benefici	
  
marginali	
  

cosM	
  
marginali	
  

N*	
  

in	
  modo	
  equivalente,	
  in	
  
termini	
  di	
  benefici	
  e	
  cosM	
  
marginali	
  



Scelta	
  “razionale”	
  

anni	
  di	
  
istruzione	
  

€

benefici	
  
marginali	
  

cosM	
  
marginali	
  

N*	
  

Se	
  aumentano	
  i	
  benefici	
  
marginali	
  ◊	
  aumenta	
  la	
  
quanMtà	
  di	
  istruzione	
  scelta	
  	
  

N*’	
  



Scelta	
  “razionale”	
  

anni	
  di	
  
istruzione	
  

€

benefici	
  
marginali	
  

cosM	
  
marginali	
  

N*	
  

Se	
  aumentano	
  i	
  cosM	
  
marginali	
  ◊	
  diminuisce	
  la	
  
quanMtà	
  di	
  istruzione	
  scelta	
  	
  

N*’	
  



Il	
  rendimento	
  dell’istruzione	
  

L’istruzione	
  rende	
  perché:	
  

1)  aumenta	
  nei	
  lavoratori	
  la	
  dotazione	
  di	
  
competenze	
  domandate	
  dalle	
  imprese	
  
(Becker,	
  1966).	
  E’	
  ovvio?	
  

2)  segnala	
  alle	
  imprese	
  le	
  capacità	
  innate	
  del	
  
lavoratore	
  (abilità),	
  la	
  sua	
  moMvazione,	
  la	
  sua	
  
perseveranza	
  (Spence,	
  1979)	
  	
  





Capitale	
  umano	
  e	
  mercato	
  del	
  
lavoro	
  
I	
  numeri	
  



Percentuale	
  di	
  laureaM	
  nella	
  coorte	
  25-­‐35	
  e	
  nella	
  coorte	
  55-­‐64	
  



Percentuale	
  di	
  diplomaM	
  e	
  laureaM	
  nella	
  coorte	
  25-­‐35	
  e	
  nella	
  coorte	
  55-­‐64	
  













%	
  laureaM	
  sulla	
  
corte	
  che	
  si	
  
potrebbe	
  
laureare	
  nel	
  
2008	
  



Istruzione	
  e	
  occupazione	
  



%	
  di	
  occupaM	
  nella	
  popolazione	
  25-­‐64	
  per	
  livello	
  di	
  istruzione	
  



Differenza	
  nei	
  tassi	
  di	
  occupazione	
  tra	
  maschi	
  e	
  femmine	
  per	
  livello	
  di	
  istruzione	
  



Differenza	
  nel	
  tasso	
  di	
  disoccupazione	
  tra	
  maschi	
  e	
  femmine	
  per	
  livello	
  di	
  istruzione	
  



RendimenM	
  dell’istruzione	
  



I	
  rendimenM	
  dell’istruzione	
  

•  SMmare	
  i	
  rendimenM	
  dell’istruzione	
  è	
  molto	
  
complicato	
  

•  Mincer	
  equaMon:	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ln(wi)	
  =	
  b0	
  +	
  b1Si	
  +	
  b2Ei	
  +	
  b3E2i	
  +	
  Xib	
  +	
  
ai	
  +	
  ei	
  

	
  

•  Il	
  problema	
  è	
  che	
  l’abilità	
  ai	
  non	
  è	
  osservabile	
  
(ovvero	
  non	
  è	
  inclusa	
  nei	
  dataset)	
  

•  Quindi	
  viene	
  omessa	
  

–  ma	
  individui	
  più	
  abili	
  potrebbero	
  acquisire	
  più	
  
istruzione	
  e,	
  al	
  tempo	
  stesso,	
  essere	
  più	
  produJvi	
  
e	
  guadagnare	
  di	
  più	
  ◊	
  correlazione	
  spuria	
  tra	
  
istruzione	
  e	
  salari	
  

	
  



I	
  rendimenM	
  dell’istruzione	
  

•  cenMnaia	
  di	
  studi	
  hanno	
  sMmato	
  la	
  Mincer	
  
equaMon	
  cercado	
  metodi	
  che	
  risolvano	
  il	
  
problema	
  della	
  variabile	
  omessa	
  

	
  

•  Tipicamente	
  il	
  risultato	
  è	
  che	
  ogni	
  anno	
  di	
  
istruzione	
  in	
  più	
  aumenta	
  i	
  salari	
  del	
  5-­‐7%	
  

–  le	
  sMme	
  variano	
  per	
  paese	
  

–  l’Italia	
  è	
  in	
  linea	
  



Guadagni	
  relaMvi	
  dei	
  laureaM	
  rispe@o	
  ai	
  diplomaM	
  



Guadagni	
  delle	
  donne	
  come	
  %	
  dei	
  guadagni	
  degli	
  uomini	
  per	
  livello	
  di	
  istruzione	
  



Differenza	
  nel	
  college	
  wage	
  premium	
  tra	
  i	
  55-­‐64	
  rispe@o	
  al	
  college	
  wage	
  
premium	
  medio	
  

Evide
nza	
  di	
  
obsol
escen
za	
  del	
  
capit
ale	
  
uman
o	
  in	
  
Italia	
  
(forse	
  
a	
  
causa	
  
dello	
  
scars
o	
  
traini
ng)	
  



Guadagni	
  delle	
  donne	
  in	
  rapporto	
  agli	
  uomini	
  per	
  livello	
  di	
  istruzione	
  e	
  età	
  



Valore	
  a@uale	
  ne@o	
  pubblico	
  e	
  
privato	
  dell’invesMmento	
  in	
  

istruzione	
  



Valore	
  a@uale	
  ne@o	
  privato	
  e	
  pubblico	
  del	
  diploma	
  e	
  della	
  laurea	
  



ComponenM	
  del	
  valore	
  a@uale	
  ne@o	
  del	
  diploma	
  superiore	
  



ComponenM	
  del	
  valore	
  a@uale	
  ne@o	
  della	
  laurea	
  



CosM	
  pubblici	
  e	
  cosM	
  privaM	
  della	
  laurea	
  



RendimenM	
  e	
  cosM	
  pubblici	
  dell’istruzione	
  





cont.	
  







Il	
  costo	
  del	
  lavoro	
  per	
  le	
  imprese	
  di	
  un	
  laureato	
  con	
  e	
  senza	
  esperienza	
  



La	
  spesa	
  pubblica	
  in	
  istruzione	
  



La	
  spesa	
  annuale	
  per	
  studente	
  



Spesa	
  per	
  istruzione	
  sul	
  PIL	
  



Quota	
  della	
  spesa	
  privata	
  in	
  istruzione	
  



Quota	
  della	
  spesa	
  pubblica	
  in	
  istruzione	
  sul	
  totale	
  della	
  spesa	
  pubblica	
  



Tasse	
  universitarie	
  medie	
  nelle	
  università	
  pubbliche	
  
	
  e	
  borse	
  di	
  studio	
  



Gli	
  sMpendi	
  dei	
  professori	
  delle	
  scuole	
  medie	
  



Quello	
  che	
  insegniamo	
  serve?	
  





RendimenM	
  non	
  monetari	
  




